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Part B (Short Answer Type Questions)

Answer all nine questions .
Each question carries 1 weightage.

Find AxBand Bx AifA={1,2},B={qa,b}
n

Let A; ={1,2,3....i}. Find _UlA;»
3=

Find floor function of (1) |7- 5| (2) |-2- 5.
Let A = {1, 2, 3, 4} f and g are two functions on A defined by

f={1,3(2,13,4)4,3)}

What is the negation of the statement

“There is an honest politician’.

What is the truth value of 3x p (x) where p(x): %2 > 10 and the domain consists of {1, 2, 3,

Define Tautologyl Show p A= pis not a tautology.
Give a proof by contra position ‘if n is an integer and 37 + 2 is odd, then n is odd’.
Which rule of inference is used in the following argument :

“Alice is a Mathematics major. Therefore Alice is either a Mathematics major or a Computer Sc
major”.

(9 x 1 =9 weigh
Part C (Short Essay Questions)

Answer any five questions.
Each question carries 2 weightages.

Show that the relation a = b (mod n) is an equivalence relation.

2x -3
Find a formula for inverse of & (*) = Bx -1

Let £:R >R defined by f (x)=2x-3 show fis one-to-one and onto.
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ow (p>r)A(@—>r)and (pvq) > r are logically equivalent.

ess the mathematical statement using predicates, quantifiers and.'logical connectives.

- ‘The product of two negative real numbers is positive’.

Jenstruct a truth table for the compound proposition (p > @) A (= p - q).

(5 x 2 = 10 weightage)
Part D (Essay Questions)

Answer any two questions.
Each question carries 4 weightage.

let f:A>B, g:B>C be two functions prove :
~(a) Ifgofis one-to one then f is one-to-one.
(b) If gofis onto then g is onto.
Write the contra positive, inverse and converse of
‘If it is rainy, then the pool will be closed’.
Which rule of inference is used in the argument ?

If I go swimming, then I'will stay in the sun too long. If I stay in the sun too long, then I will
sunburn. Therefore if I go swimming, then I will sunburn’.

Show that p<>q and (pAg)v(= P A—q) are logically equivalent.
Give a proof by contradiction to prove ‘if n is an integer and n3 + 5 is odd, then 7 is even.

(2 x 4 = 8 weightage)



